CLASS 12

DETERMINANTS

MINORS AND COFACTORS

EXERCISE

The cofactors of 1, -2, -3 and 4 in

(A)4,3,2,1 (B)-4,3,2, -1
(C) 4: _31 _21 1 (D) _4, —3, —2, —1
2 -1 4

The minors of the elements of the first row in the determinant (4 2 -3| are-
1 1 2

(A)2,7,11 (B)7,11,2
(©)11,2,7 (D)7,2,11
a, b ¢

IfA=|a, b, c,|andAp, By, Cy are respectively cofactors of ap, by, ¢y then
ag by ¢y

a1A2 + b1By + c1C2 is equal to-
(A)-A (B) O

A (D) None of these

IfA= (aij) is a4 X 4 matrix and cij is the co-factor of the element ajj in Det (A), then

the expressionaqqc11+agc12+a13c13 + a14c14 equals-
A0 (B)-1

1 (D) Det. (A)
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X 1 -2
Q.5 If cofactor of 2x in the determinant | 1  2x x-1] is zero, then x equals to-
Xx-1 X 0

(A0 (B) 2

©1 (D) -1

ANSWER KEY




